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FIG. 6. (Left) Match (color) between the EFB-T waveform model and an NR waveform with input Newtonian values rp = 10M
and e0 = 0.75, and masses m1 = 10M� and m2 = 40M�. The maximum match, displayed by the cross symbol, is 0.927, and
is achieved at p0 = 10.9M and e0 = 0.528, which corresponds to rp,0 = 7.13M . (Right) Comparison of the best fit EFB-T
waveform to the NR waveform. Both waveforms have been normalized so that ĥ+ = 1 at the peak amplitude.

FIG. 7. The same as Fig. 6, but with an NR waveform with input Newtonian values of rp = 8.75M and e0 = 0.75. The
maximum match is 0.945, and is achieved at p0 = 8.56M and e0 = 0.541, which corresponds to rp,0 = 5.55M .

extend this to more, but this su�ces for our purposes.
To generate a multi-burst EFB-T waveform, we start

by generating a single waveform using the method de-
scribed in Sec. VA with p̄0 = 60 and e0 = 0.9. To gener-
ate the next burst, we must know what the parameters
[p1, e1] at the next pericenter passage will be. Fortu-
nately, such a model was developed in [25]. We follow

a similar procedure here. As an example, the change in
the eccentricity e from one pericenter passage to another
is given by

eI+1 = eI +

✓
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